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A COL(s)+C(5)=2C0(g) AH, CaO(s)+H,0()=Ca(OH),(s) AH,

B, NH, -H,0(aq)+H" (aq)=NH (aq)*H,0() AH, H'(aq}+OH (aq)=H,0(aq) AH,

C. N, N(@t0,@=2NO@ AH grimpt, N,(@140,(2=2NO@) AH,

D. €H,(2)+20,(g)=C0, (g)+2H,0(1) AH, CH,(g)+20,(g)=C0,(g)+2H,0(z) AH,
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@H.(2)+CL (2)=2HCl(g) AH, H,(g)+Br,(e)=2HBr(g) AH,

@ 8(@10,(2)=50,(2) AH, S(s)+0,(g)=50,(g) AH,

@MN:0:(2) f 2NO,(2) AH; 2NO,(9)f N,0,(z) AH;

@ CaC0,(s)=Ca0(s)+CO, (2) AH, CaO(s)+H,O()=CAQH),(s) AH,
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HCl(aq)+ NaOH{aq)=NaCl(aq)+H,O(1) AH,,

H,S0, ( #.aq)-NaOH(aq)= ;l—TNa:SO_. (aq)H,O() AH,

o Lo farc
@ %@ M (@B e)=co, (o) , AH,
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A. Se(s)tH, (g)=H,5e(g) AH=-242KJ -mol”
B. Se(sytH, (g)=H.5e(g) AH=-20k] -mol”

C. Se(g)tH,(g)=H,Se(g) AH=+81 kI mol?
D. Se(sytH,(g)=H,5e(g) AH=+81kI- mol™?
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